1(1) Ix(P(x) A L(x));

(2) =3x(P(x) AV (x,x));

(3) Vx(P(x) - 3y(L(y) AV(x,y));
(4) Vx(L(x) » 3y(P(y) AV(yX));
g Vy(L(y) = Ix(P(x) AV(x,)),

2 (1) vvP(v) » 3vP(v) BHH.

—(VvP(v) = JvP(v))

YvP(v), —3vP(v)

P(a)

—P(a)

X

(2) IPW)VL®) & AvP(W) VIVL(W)) BHEMR.

—|(3v(P(v) Vv L(v)) & (AvP(v) VvV AvL(v)))
_____——f/_—h__‘—__\*——_

w(P(v) v L(v)) -3v(P(v) v L(v))
~(3vP(v) v IvL(v)) (3vP(v) Vv 3vL(v))
—ElvP(vF, ~3vL(v) P(a) v‘ JvL(v)
P(c) v L(c) P(a) v L(b)
—.P|(c) P(a) L(b)
—L(c) —(P(a) L L@) ~(P(b) \Jf L(b))
Pﬁc) LTC) -P(a), |—.L(a) —P(b), —‘|L(b)

X X X X

(3) Vv Vv,V (v1,v2) = Yo,V V(vy,v,) =B

(Vv Vv,V (vy, va) = Vo,V V (v, v,))

Y, Vo,V (v, v3), 2V, Vo, V (v, v5)

Vv,V (v, b)

—:V(a, b)

Vv,V (a,vsy)

V(a,b)

X



(4) Vvi(P(v1) = 3v,P(vp)) BEHR.
—vv, (P(vy) - 3v,P(v,))
~(P(a) = Fv,P(v,))
P(a), ~3v,P(v,)
—P(a)

X



